T - - Z°8 251 £18 HZZHZI | #48 HZZHZI — £19 HZZHZI | o¢
e | o°8 1V 2 9L LS 1 H18 HY HT | 4H#2 HS HI £102HE HT 62
e | 8¢ 29°2 v 9 09 1 £1ZZ2HO0ZHZ | 12T HIZH T £10T HO0Z HE 82
e | g2 S5 g 89 09 1 £18 HSIHZ | 12 H6I KT £40 HS8I HZ L2
HE | 96 6T °2 €6 19T £48 HE HOT | £40THV HOT — £HOTHT HOT | 92
e | 9L 0T '€ L9 L9°T LHSTHFZHT | £HPTHSZ HT LHZT HET H T 4
e | s 0S '2 S 9L T £4Y HZ HE | £H0ZHV HE £HSTHT HE vz
LG0TTHE | 879 €9°2 VoL 18T £H0ZHSTHO | £4C H9ZHO £10T HST H9 €z
mE | L9 T0 "€ T2 ¥8 T £42 HPCHTT | £48 HSZHIT - £H2CHEZHTT | 22
mE | €9 Sz ¢ 89 L8 T SPTHY HY | 200 H9 HT £42 HY HT 12
wE) | 6°8 6T '€ VoL S0 2 £42 HSTHT | £19 HETHT LHVTH6 HT 02
mE | 1°8 262 Ll L0°2 LUSTHIZHT | $40 HEZTHT £42 HICHT 61
mE | VS 88 ‘¢ 8L 8T '2 £40 HZIHZ | $48 HET KT £40 HITT K2 8T
mET | L2 8¢ ‘¢ 1°8 612 £0THOZHTIT | £19THIZHIT — 12 HOZHTII | LI
mE | 1°8 g6 ¢ €8 022 £12 HI £122HT HT £40 HT HT 91
Y AHE | 8°8 LLY V6 22 °2 £48 HOTHIT | £HCTHCIHIT — £1VIH6 HIT | GI
wEr | 26 1e ¢ Z°8 82 2 £102HZZHE | £40 HVZHE £49 HZZ HE VI
XY EHE | 8°8 9¢ ‘¢ Z°8 Ve 2 £UZZHSZHT | $12 HI KT £181 H8Z H T el
e | L8 eV v V'8 9¢ ' £48 HOT HZI | £19 HSI HZI — £H19T HSI HZI | 2l
e | o°8 gL¢€ €8 SYy 'z L0 HOTHE | &y HLIHE £UVT HST HE I
e | €0 g9 ¢ S8 0S '2 £48 H6 HZT | £HCZHITHET — £H2THS HZT | OT
e | voL VLY 8L 95 °2 LHZTHYT HZ | 42 HOT HZ £19 HYTHE 6
e | 9°8 v ¥ L8 L9°2 LH8THL HE | £HC H6 HE £48 HL HE 8
mE | L9 Sz ¥ 6L 89 '2 £102 H ST HOT | £42 HLZHOT — £H9T HSZ HOT | L
mE | gL 08 ¥ g8 9.°2 £102H9 HT | £4PTHS HI LHCTHO HT 9
mE | L0 LLY T°6 062 £H9T O T £48 HV H2ZT - %48 HT HZT | ¢
mE | 2L €2°G VoL 86 '2 £HOTHSTHT | £48 HSTHT £48 HST HT v
LTI E | 6°L VTS Z°8 90 '€ L4 H6TH6 | £H8THZZH6 £48 HOT H6 g
L6011 & - - g8 TV £40 HO9 H8 | Hu8THL K8 £48 HV K8 z
L2011 & - - 9°8 0L°S LUSTHSZHS | 12 HOEHS £18T H 82 H ¢S I
] e Amvﬁmwﬁ% (w) t= 7| (S) M E| (W) AR M 2% o
Y X FEEH FEB Y
(0€~T) #1102 tht 7

EHAE Ak 65 V-EH




